
40

øP

L

SWa

M
DIN7991

SW

F +0.5

H

øC H7

21

N+0.5

øP H7

F +0.5

21

g6

Slide mechanical stop recommended

A+0.1

G G min.

A+0.1

Mat.1.3505
Hardener 60±2 HRC

 min.

Rz 4

øP

L

SWa

M
DIN7991

SW

F +0.5

H

øC H7

21

N+0.5

øP H7

F +0.5

21

g6

Slide mechanical stop recommended

A+0.1

G G min.

A+0.1

Mat.1.3505
Hardener 60±2 HRC

 min.

Rz 4

SLIDE RETAINER
ES Retensor Corredera DE Schiebersicherung  

IT Ritensore Carrello PT Retensor de Corrediças FR Blocage de Coulisseau

RC

OPTIONAL DOWEL PIN
ES Pasador Opcional DE Zylinderstift (Optional)  

IT Riferimento Opzionale PT Cavilha Opcional FR Goupille Optionnel

Ref. A B C E F G H K R T SW

RC.123006 12 30 6x20 21 4.7 4 16 5 kg. 6 M5x16 3

RC.164008 16 40 8x20 28 5.7 5 15 7 kg. 8 M6x20 4

RC.205010 20 50 10x24 34 7.7 6 17 14 kg. 10 M8x25 5

RC.246012 24 60 12x32 42 9.7 7 23 21 kg. 12 M10x30 6

RC.328012 32 80 16x40 56 11.7 9 27 28 kg. 16 M12x35 8

RC.328016 32 80 16x40 56 15.7 9 25 38 kg. 16 M12x50 8

Ref. L M N P SWa

PO.120320 12 M3x20 7.5 6 2

PO.150425 15 M4x25 10 8 2.5

PO.200530 20 M5x30 13 10 3

PO.250635 25 M6x35 16 12 4

PO.340850 34 M8x50 23 16 5

Cad Insertion Point

Cad Insertion Point

K=Force to release the retainer.
ES K=Fuerza de desenganche del retensor.
DE K=Kraft zum entriegeln.
IT K=Forza di sgancio del ritensore.
PT K=Força necessária para libertar o retensor.
FR K=Force de libération de la retenue.

Mold Open With POSlide Disassembling

Patented

Patented

Max.
150ºC

Max.
150ºC

C
DIN7979

T
DIN7991

SW

F

RE

B

Friction Area
Hardened 58±2 HRC A

0.5

K

Mat.1.8159
Hardened 45±3 HRC

Installation Guidelines
Consejos de Instalación · Richtlinien zur Installation · Consigli di Installazione · Instruções de Instalação· Mode d’Installation

PO

PLAY

https://cumsa.com/QRcPO
https://cumsa.com/QRcRC

	EC
	Slides home
	Slides Index
	MS
	MS
	SP
	MC
	MG
	MB
	SU
	UU
	CS
	CR
	CA
	CG
	CG SET
	BC
	GI
	GR
	BG
	UC
	UA
	PO
	RC
	RCM
	CG
	RA
	Undercuts home
	Undercuts Index
	DR
	DK
	RF
	XR
	KR
	FC
	CK
	MK
	RD
	WL
	WP
	WF
	PF
	PS
	PW
	AP
	PX
	CX
	ED
	EE
	DL
	DG
	BD
	DF
	VI
	CI
	SD
	SPECIAL PW
	Ejecion home
	Ejection index
	PR
	SL
	RM
	GS
	MX
	DX
	SX
	EP
	DE
	DY
	SY
	EY
	EZ
	EB
	EW
	AE
	AL
	LR
	LD
	BA BE BT
	TE
	VE
	DP
	TM
	TA
	TR
	Traceability index
	CF
	FR
	MN
	CT
	TK
	IM
	IR
	BI II
	IG
	FU IU
	FA
	IA
	EF
	FP
	FX
	IX
	FD
	FT
	IT
	BM
	PM
	CC
	Vacuum home
	Vacuum index
	VB
	SV
	VJ
	VG
	VM
	VT
	VV
	PT
	PT PA
	NP
	VP
	NR
	VS
	CV
	PH
	LV
	JV
	TV
	Accessories home
	Accessories index
	FV
	VA
	VH
	VD
	SA
	AS
	EC
	TH
	TO
	BR
	RL
	JR
	SB
	TB
	TL
	PI
	CP
	SC
	SM
	MR
	RR
	UM

	QR RC: 
	QR PO: 
	SLIDES: 
	SLIDES 13: 
	Ejection home 8: 
	Botón 714: 
	Undercuts home 77: 


